
Capacity word problems 
 

 

1. A gardener collects some rain-water in 5 tubs.  Each tub has 5 litres of water in 

it.  How much water does he have in total? 

 

2. A pot has 50ml of syrup in it. Dad uses 10ml. How much syrup will be left in the 

pot? 

 

3. There are 20 litres of petrol in the tank of a truck. The driver adds another 10 

litres. How much petrol will be in the truck now? 

 

4. The volume of tea in a flask is 2 litres. Two painters share the flask equally. 

How much tea will they each get? 

 

 

To access the 3 complete worksheets (including answers) at 3 levels of difficulty: 

 one-step word problems with all four operations 

 as above, but also two-step problems with addition and subtraction  

 all two-step word problems with all four operations 

 

visit 

http://www.saveteacherssundays.com/maths/year-3/106/length-word-

problems/ 
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